0512413 j‘_;; : .'f + i _(pa—g-e?- 4) e Name

Reg No

THIRD SEIV[ESTER B. Sc. DEGREE EXAIVIINATION NOVEMBER 2018
R ' ~ (CUCBCSS—UG)
LRP Pattern »
' All—-—BASIC NUMERICAL SKILLS
ol it o (2017 Admms:ons) , _
Tl Three Hours fa 3 Rk . e K Mammum 80 Ma
‘ Use of Sc;enuﬁc/ Basie Calculators .cmd Mathematwal/ Sr‘austzcal tables are permztted '

Part A

- This part consist of two bunches of questions.
Each bunch has five questions. Each question carries 1 mark.
' Answer all the ten questions.

(A) Choose the best answer from the optlons given:

: 1 The Sets of (MARCH] and {CHARM} are————- sets.
(a) Smgleton set. SRR O L) Kqual. -
(c) Equwalent. | (d) None of these,.l .

2 ——4———~ data are in the shape of raw matenal |

“(a) Primary.or secondary (b) Primary.
(c) Secondary. SO\ : ' (@ None.

, 3 An appropnate method for workmg out consumer price mdex is
(a) Slrnple aggregate Expenchture method ' |
(b) Fannly budget methogl; ‘ '

e '(Ac)" Sim.ple average relative method.

(d) None

4 The measure of dxspersmn based on all the observatmns of the serlesrls 7

Boriaadlies (d) All
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5;_ OnenthtermofaGP 1s————-——-—' : Rt
‘l';“.,_,v-(a) am " Sy (b) _orrt-‘l. o
s : (c) anr. ' -. : o ; (d) '.ar‘l —_lfl"
'-",'-_.';_-;(B) Flll in the Blanks S e '
i '_f'-6 : The value exactly at the rmddle of a class interval is-
S : ‘71 A matnx w1th equal number of rows and columns is called —-——-— inatrix; e
-'fs_%When Q; =20, Qg = 30, QD - ' ‘
“vig ————- index is known as the ‘ideal’ index.
10" One éxpressmn b- dac _is called—.-—u of the quadrat1c equatlon B
b | e ' | (10 x1=10 marks),
Part B (Short Ané._wef Questions)

Answer any eight questions.
Each, question carries 2 marks. R

11 Ifo:+b ja—b= 5 2 find the value of b : .

12 2 shops have the stock of large, medmm and small sixes of toothpaste ’I‘he number of each'_'
. size stocked is given by the matrix ‘A’ ; where :

- Large - Medium: - Small ' _
A [ 160 ,l 240 ' 120 ' Sho'p‘No I
L L 9N 800, o a, 210 Shop No.. o

s 'I‘he cost matnx, B of dlfferent size of the toothpaste is givenby :

14 ) Large o
s 10 | Medium :

6 J Small

Compa.re the Investments in Toothpaste by each Shop

Fmd the mean of vanables X and Y gwen the followmg

“RegressmnononX 2Y X 50 0
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cyc st e alsfr

et hls hous epat 1 2 om hls hmlqe to co]legc at a spced of 8 K.ms/hr and back from the Lollege to i

2 me hr. Flnd the Average Speed : :

1t ,‘._.Represent (A A B) U (A N C) by using a ane dlag'ram ‘ ‘
el . If the Arithmetic Mean of two observ

s :jGeometnc Mea.n :

atlons 15 25 and thelr Harmomc mean is 9 ﬁnd then- :

A7 Calculate the tlme in Whlch a sum of money doubles at 10% per a.nnum

_ 18 What is an Index Number ?
_-‘-1'9"' From the followmg data, calculate the Coefﬂc1ent of Variation : Bk S
i -Karl Pearson s Coefficient of Skewness =0.42; Anthmenc Meah = 86 and Median = 80
20 ‘The parabohc trend equation for the sales (in 1000s of Rs.) of a Company is gzven a$-.
' : Y 15 6 04X +0.9X? (Orlgm 1995 X Umt = 1 yéam; Y*Umt Yearly Sales.) Shlf’t the -
ongm to. 2000
gl *. ¥ (8x 2 =16 marks)
Part C (Short ﬁé;ay Q'ué_stio;:ls) e
Answer any six questions.
Each question carries 4 marks.

9y Show that the value of the determinant :

‘ 1 l-a"br-pc ‘
5 1 wb c+al=0,
1 e ab |5

22 The first 4 moments of a dlstrlbutwn about X 2 are — 2 12 20 and 100. Calculate the .

" moment about mean and [32 Show 1f the dlstnbutlon is leptokurtlc or platvkurtlc 7
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3 _.-..'-;jThe folIowmg frequency table bre%ents thé incomf, ;n 1003 earned 'by 57 fam}hes m a town
_:i-:.f';_and drawaLorenz Curve e G A e 5 o
: 1""“‘“‘«‘ il et 1050 50-200  200-500 .590%1'_909'
No ofFarmhes 22 }' il 73 | 124 NSy 8 Ry

;26_ "An Index is 100 in 2001 it rises 4% in 2002 falls by 6% in 2003 falls 4% i in 2004 and nseq
75t 3% d in 2005 Calculate the Index Numbers for the five years with 2003 as base !

27 If Mean of a Normal Dlstnbutmn is 45 and SD is 15. Find the values of Q1 and Qa
- 28 Shares of two compames have the followmg information :

Mean of Sh_are values . SD of Shai‘e values

| ComﬁanyA_ 1l o) | T 5
~Company B - | _'20 A o, 8
o Examme : ; :
: ( i) Which Company’s shares are better 2 K A ; (2 mz‘u-ks).-; ‘.

RO 1(;1) Which Company’s shares have great(_er \%ariabiiity 2 | b5t i (2 hatk_é).
e | ' ' [6x4=24marks]-
Part D (Essay Questions) o
Answer any two qufzstwus from three.
Each question carries 15 marks
= 29 If o and ]3 be the roots of the Quadratm equatlon ,x2 +mx+12=0 and o - B 1 Fmd the '
i e values of ¢ m’, aand B. ) | : ‘ .
:-"30 What is Tlme Serxes Analys1s ? What are its ob;ectwes ? DISCUSS its components in detall
31 The dally expendltures of 100 famlhes is gwen below : |

DaﬂyExpendltures - goage 2040 40-60  60-80. 80-100 .. -

No offaxmhes _.':-‘. 1‘3 f 2 e .-27'_‘ ) k4 _'? : 16 g

if the mode of the d1str1butmn 1s 44 then Lalculate the Karl Pcm son 3 Coefﬁclent. of Skewness‘r-'ﬂi_:-”

(2)( 15=30mﬂrk3 i
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